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If there is any sort of mist^c either of printing or of factual nature in any question, then out of the Ilindi and
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51. ^ t ?

(A) '^-'^3^HT-iTH-1^^5rsTT

(B)

(C) ^ M

(D) <iM4=k1 "^f ^ ̂

52. 83ft^

(A) R^1 ̂ <

(B)

(C)

(D) <iM^cki ^* -^ -^ ■^"

'53. fTRfefer *^g^ "OT5T*
^ t ?
(A)

(B)

(C) ■^.^.
(D) T3:?T.^.

54. '"^T^' ?T^ 1^ ^ W t ?
(A) (Sli'l
(B) ite

(C) ^

(D) ■^* "^ ^ "^'

(7)S/17/2022/A

51. What is the correct hierarchy/relationship
structure ?

(A) Data-Information-Knowledge-
Wisdom

(B). Knowledge-Data-Information-
Wisdom

(C) information-Knowledge-Data-
Wisdom

(D) None of the above

52. The simplified model of information
derived from Shanon-Weaver Theory is :

(A) Channel-Message-Source-Receiver
(B) Message-Source-Channel-Receiver
(C) Source-Message-Channel-Receiver
(D) None of the above

53. Who has coined the term 'Information
Society' from the following ?

(A) B.C. Brookes

(B) Fritz Machlup

(C) B.C. Vickeiy

(D) Dr. S.R. Ranganathan

54. The word 'Communication' is derived
from which language ? .

(A) Latin

(B) Greek

(C) Chinese

(D) None of the above

1  P.T.O.
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55. :

(A) ̂  ^

■§, ^ "Q;^ ^■<^'11 31^
%*

(B) v^ %nf^ t

(C) ^^11 ^^"=1=+) ^

(D) "^*

56. ^TTTcT ^ '"^ ^
^tii^

T?cTT t I ■ ■

(A) 30

(B) 40

(C) 60

(D) 100

57. ^ "qm :

(A) (i'llfi^ ^

(B) snf^uiic^.d

(C)

(D) Kr^M'^r^l

58. "^* ^ ^3F#P7
W  t ? ■

(A) l^cr^rll (B) "5^

(C) "qPT^ (D)

(7)S/17/2022/A

55. Information Brokers are :

(A) This refers to those individuals or

firms, who provide information

service for a fee

(B) A Data Scientist

(C) Network of Information seekers

(D) None of the above

56. In India literary work is protected for a

period of. years after the death of

the creator.

(A) 30

(B) 40

(C) 60

(D) 100

57. Find out the odd :

(A) Turnitin Web tool

(B) Ithenticate checker

(C) Grammarly

(D) Plagscan

58. \\Tiere is the office of Patent Information

System located in India ?

(A) Delhi (B) Mumbai

(C) Nagpur (D) Chemiai

f V



59- ^ ?

(A)

'(B) ̂  -HHhI^H 1^

(C) ̂  ̂

(D) ̂hPHtn pHwsKn

60. "qr "fiRH

1^ ?

(A) W <IMh16H TFI wt?H

. (B) ?Tt "SFR

(C) y,w^i<ri^

(D) ̂ Pq<ri«i^d

61. aw

^  TTWi^

^ t ?

(A) "^kr^ ^ikFR

(B) ̂  kkTB

(C) ̂ Ah)< Pi=*A<r^i

(D) "te ̂  -

62. "f^ k* (di^^<1

^ ̂mqr ̂  t ?

(A) ̂

(B) "qf^q^

(C) ̂ Rqiuii

(D) a^WTW

(7)S/17/2022/A

59. Who was the Chairman of the National

Knowledge Commission ?

(A) Dr. A.PJ. Abdul Kalam

(B) Dr. -Manmohan Singh

(C) Dr. Sam Pitroda

(D) Kapil Sibbal

60. Who launched National Mission on

Libraries ?

(A) Raja Ram Mohan Roy Library

Foundation

(B) President Shri Pranab Mukherjee*

(C) National Library of India

(D) INFLIBNET Centre, Gandhinagar

61. Recently, who is the Secretary General of

International Federation of Library

Associations and Institutions ?

(A) Gerald Leitner

(B) Sharon Memis

(C) Jennefer Nicholson

(D) Peter Lor

62. In which state Library Cess is charged in

the form of surcharge on Excise duty ?

(A) Goa ■

(B) Manipur

(C) Haryana

(D) Arunachal Pradesh

P.T.O.



63. ^ tor ^

^

■atoe ^ ^ ^ ?

(A) (^TRit) tomtom

(B) tort to^to^

(C) 3i#rT^ -gfto

(D) TTOT

^^RT^ntof ^1^11 ^ 3TRr^
"tor to^f^^JTcRT hT-Sqi

TT^.|.it. ^ eTT^ ■^* ^
t ?

(A) "to ^

(B) (^^Rit) "fl^'
(C) toRtoiOT
(D) 4idchx1l

65. RMPdr^d ^ ^ tor STR

(A) ^.it.

(B) HdiH tW^

(C) Ti.stR^. 3RTK

(D) "3^ tor

66. ^IRiJ.'rid "Mto^ rt^M tor
■^' "^sfrf^ if ?

(A) 1891 -

(C) 1909

(7)S/17/2022/A

(B) 1906

(D) 1927

63. Department of Library and Information
Science of which Indian University was
recognised as. an associated project of
UNESCO ?

(A) Banaras Hindu University

(B) Delhi University

•  (C) Aligarh Muslim University

(D) Madras University

64. On the basis of model of which
University, RRRLF under its scheme
"Assistance to Centrally Sponsored
Libraries" is supporting N.E.P. (National
Education Policy) of India for its
implementation ?

(A) Vishwa Bharti

(B) Banaras Hindu University

(C) Jadavpur University

(D) Calcutta University

65. Among the following, who has been the
Mission Director of National Mission on
Libraries ?

(A) D.P. Chattopadhyaya

(B) Ajay Pratap Singh

(C) A.R.D. Prasad

(D) Mugdha Sinha

66. In which year was Khuda Bakhsh
Oriental Public Library founded ?

(A) 1891 (B) 1906
(C) 1909 (D) 1927



67. 2024

^\*}^ (^S^Ta^.^nf."^.) 1^

TSTH "qr ?

(A) Tf^HT

(B) w^?;.

(C)

(D) ̂  W«T -

68i 3OT "^erT (4Ri^

crll$^<l) 1954 ^ =f^

y=hlf^ld "3?^ ̂  ̂

^ I^W t, cit "3^ "^- -"^

^ ̂ emRT ̂  "^T^ t j

(A) 50 ̂  (B) 100
(C) 500 (D) 10

69. ■Ht.3ii|.Ta;^.37if.-qt. ^ (Mt^) ^
t ?. ■
(A) I^Pd^HH
(B) fte
(C) i'=K 'y.trlH
(D)

70. ^ei<^[s'H< Pt)^ "3^<f°Fil^
t ?

(A) 'm^ ^
(B) STRT

(C) ell^^d 3TRr 3fR|fW
(D) "^TPM 3TR> "dtn

(7)S/17/2022/A

67.

68.

In the year 2024, the World Library and
Information Congress (WLIC) of IFLA

will be organised at which place ?

(A) Paris, France

(B) New York, U.S.A.

(C) Dubai, U.A.E.

(D) Cape Town, South Africa

In the Delivery of Books and
Newspapers (Public Libraries) Act, 1954,
if any publisher fails to submit his
published book, shall be punishable with
fine, which may be extend to
Rs

(A) 50

(C) 500

(B) 100

(D) 10

69.

70.

Who is the President of CILIP ?

(A) Sue Williamson

(B) Julie Reid

(C) John Trevor Allen

(D) Heather Marshall

Which Library is related with Belvedere

House ?

(A) National Library of India

(B) Library "of Congress

(C) National Library of Australia

(D) National Library of Greece

P.T.O.



rnnRrlfed ^
w  t ?
(A) W\

(B)

(C) ^^isbHr^lchl
(D)

72. PHHrdRsid "4' ^ '^WT^
TT^nf^rfFH ^ t ?
(A)

(B)

(C) ̂
(D) 3W

73. PiMPdr^d ^ ̂̂^Pdd :
^-I "^-11

(a) anfo^ 15339 : (i) MtrKa'i-^^chiQi^
2003 , ^dlRsMchV

(b) anfrjTET 12940 : (ii) dl^^O
2017 "QTr^ P4)Pd'^-

:

■qi^ 2
(fefh ̂ ^^q)

(c) anfo^ 15996 : (iii) ^l4^Pd=b
2021- li^dild^

(d) anfiT^ 1829 : (iv) a?k
■qr^ 2 : 2017

Jik14ildq
Pdw^Kd

^ :
(a) (b) (c) (d)

(A) (iii) (ii) (i) (iv)

(B) (iii) (i) (iv) (ii)
(C) (i) (iii) (iv) (ii)
(D) (iv) (ii) (i) (iii)

71.

72.

73.

Which of the following is «o^ a part of
'Index Indiana' ?

(A) Classified Part
(B) Subject Index
(C) Title Index
(D) Author Index

Which of the following has devised
'Primary Sources Analysis TooP ?
(A) OCLC
(B) IFLA
(C) UNESCO
(D) Library of Congress

Match the following
List-I

(a) IS 15339 : (i)
2003

(b) IS 12940

2017
(ii)

(c) IS 15996 : (iii)
2021

(d) IS 1829 : (iv)
Part 2 : 2017

List-II

Documentation
Libraiy
Statistics-Guide

Library
Furniture and

Fittings-
Specification :
Part 2 Steel

(Second
Revision)
Public Library
Guidelines

Information and

Documentation

Library
Performance

Indicators

Codes :

(a) (b) (c) (d)
(A) (iii) (ii) (i) (iv)
(B) (iii) (i) (iv) (ii)
(C) (i) (iii) (iv) (ii)
(D) (iv) (ii) (i) (iii)

{7)S/17/2022/A



74. rHHPdfed ^

^ WT t ?

(A) «7jTT

(B)

(C) im^ 3k "^frfe

(D) ST^^^TTfw

75. RnfdRsld WRH 'm?fk

-^m', .1^^ -m

%* ?

(a)

(b)

(c) -^iplciRiilvJl ^-Sg^ct)

(d) "HTkr

cbl^ :

(A) (a) 3k (b) ̂  t

(B) (a) 3k (c) t

(C) (a) 3k (d) f

(D) (b) 3k (c) t

76. '3#!^ tth^' -q^ t ?

(A) nRckr STfq^WTH

(B) Wk' TT^k ,

(C) ̂  -qf^ xr4k ^

(D) fqc^ "qfeqi"

(7)5/17/2022/A

74. Which of the following is not a part of

'Indian National Bibliography' ?

(A) Classified Part

(B) Publisher Index
I

(C) Author and Title Index

(D) Subject Index

75. Which' of the following Publications are

published by the 'Association of Indian

Universities, New Delhi' ?

(a) India : A Reference Annual

(b) University News

(c) Universities Handbook

(d) Indian Science Abstract

Code :

(A) (a) and (b) are correct

(B) (a) and (c) are correct

(C) (a) and (d) ar6 correct

(D) (b) and (c) are correct

76. 'Abhilekh PataP is an initiative of:

(A) National Archives of India

(B) National Library of India

(C) Indira Gandhi National Centre for

Arts

(D) Delhi Public Library

P.T.O.



77. "te ^ t ?

(A) 'm ^

(B) o^ITcRnfer •niA'iAlsc^iQn Hf^=t)i3Tf

(C) ̂  ^ "3^^* ̂  ̂

(D) gil4)Afe^el ^

■qfeTT ^

78. RnRriRsld Af ^

^3cWA^ t ?

(A) iilM ■'^1^

(B) ^ ̂-T3?T

(C) snfoiMtit

(D) ^

79. "q;^ ^ ̂  1^-"^ ̂

^  PdMrdf^d Af ^

"?T^ tor ^ t ?

(A) ^ ̂ 5^ 3Tk

(B)

(C) ^ ci^rn^^di

(D) ^

(7)S/17/2022/A

77. What is a Tub Med Central (PMC) ?

(A) Full text archive of Biomedical

books only

(B) Directory of Commercial

Biomedical Journals only

(C) Abstract of books of Life Sciences

(D) Free full text archive of Biomedical

and Life Sciences Journal literature

78. Which of the following is not a product/

service of 'OCLC ?

(A) Green Glass

(B) CONTENT dm

(C) ISBD

(D) Cat Express

79. Which of the following cannot be

considered for evaluating content of a

reference source ?

(A) Purpose and scope of information

(B) Binding

(C) Objectivity of information

(D) Accuracy of information

8



^®T Pi^^RiHsia ■^f -yoil^d

i ?

(A) 3if?TTT -^far

(B) r^nm

(C) c^<a=b ^

(D) '% 3Ivqte ^

SI. 4d^ci 1^ ^ -yi-yNdi "^f
M^l^d 13TT ?

(A) 1988 (B) 1992

(C) 1996 (D) 1999

82. ^ ̂^STOl 1^re^ OT ^ 8ft ?

(A) PdHJId

(B) ^

(C) "OTT^n^

(D) 3TT|.^.t3:?T.'q?T.37R

^  1^ 7FTT

t I

(A) di-HlPcidH

(B) "^ifeTT

(C)

(D) "^ff^ "feM

(7)S/17/2022/A !

80. Which of the following is related with

the evaluation of currency of a Web

resource ?

(A) Date of the last revision

(B) Advertisement

(C) Date of Birth of Author

(D) Excessive claims of certainty

81. DELNET was registered as a soeiety in
which year ?

(A) 1988 (B) 1992

(C) 1996 (D) 1999

82. NICNET was established by :

(A) NISSAT

(B) UGC

(C) NIC

(D) ICSSR

83. CSIR Electronic Joumals Consortium has

been renamed as :

(A) INDEST Consortium

(B) FORSA

(C) E-Shodhsindhu

(D) National - Knowledge Resource

Consortium

P.T.O.



84. 2.0' ^

^  ̂ %2TT

s^T ?

(A) di^^d ct)^=hi

(B) dl^^d ̂

(C)

(D) ̂  en?M ^iFT

85. PHHRrlRsld ^ ̂

t ?

(A) 1t^ Tk

(B) ^

(C)

(D)

86. 2.0' "TO ?

(A) ̂  1994

(B) ̂  1998

(C) ̂  ̂l^cHil, 1999

(D) 2002

87. PiMpriRsid "^* ^Ind -til4

(A)

■  (B) TNt

■ (C)

(D) ^ eil^tjcri

(7)S/17/2022/A 1

84. The term 'Library 2.0' was first used by

Michael Casey in his blog :

(A) Library Connect

(B) Library Crunch

(C) Internet Archive

(D) The Open Library Blog

85. Which one is not related to Academic

Social Networks ?

(A) Research Gate

(B) Academia.edu

(C) Mendeley

(D) Twitter

86. The term 'Web 2.0' was coined by :

(A) Darcy DiNucci, 1994

(B) Darcy DiNucci, 1998

(C) Darcy DiNucci, 1999

(D) Darcy DiNucci, 2002

87. Which one does not belong to open

source discovery tools ?

(A) Blacklight

(B) Rapi

(C) Fac-Back-OPAC

(D) World Cat Local

0



88.

t ?

(I) "S^

(II) ^4-1, wtftN, ^Ihvi

(A) ten T t

(B) 'IF t

(C) fq^ticrM 'F afk 'IF f

(D) 'F t artr 'if f

89. Tfer ^ ̂ (1983)

OT 3TSim ̂  -m 7

(A) a^4Rchi i<^HiRiy.j?n

(B) "234^^

(C)

(D)

90. Pi+^PeiRsid 4'* chln^l !iWchld'4 "4*

Tf#^?T t ?

(a) myLibrARy

(b) Topic Space

(c) ShelvAR

(d) Ludwig II

(A) RchtrM (a) afR (b) ̂  f

(B) (c) afk (d) f

(C) TPt ^ t
N

(D) (d) Wl t ''

(7)S/17/2022/A 11

88. INIS maintains the multilingual thesaurus

in which languages ?

(I) Arabic,- Chinese, English, French

(II) German, Japanese, Russian, Spanish

(A) Option T' is correct

(B) Option TF is correct

(C) Option 'F and TF both are correct

(D) Option 'F is incorrect and TF is

correct

89. Model National Interlibrary Loan Code

• (1983) was first established by which
one ?

(A) American Library Association

(B) UNESCO

(C) IFLA

(D) lASLIC

90. Which one is related to Augmented

Reality in library ?

(a) myLibrARy

(b) Topic Space

(c) ShelvAR

(d) Ludwig II

(A) Options (a) and (b) are correct

(B) Options (c) and (d) are correct

(C) All options are correct

(D) Only option (d) is correct

P.T.O.
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91. ^ OT 3fSiTiT

t", ch^crtlcll t" :

(A) nf^ f^TRiT STTT) mifxn

(B)

(C)

(D) ̂  ̂pHNd

92. ^ 1^ ̂  -qf ̂  iOT

W s^T ?

(A) 1841 (B) 1921

(C) 1908 (D) 1876

93. •■qx

(A) T#^

(B) Tffe^

(C)

.  (D) TTfs^

94. WTRT •sf^'i ^ f' ?

(A) 16 (B) 17

(C) 15 (D) 14

95. "5^ (NEPHIS) ^

(A) "Wf (B)

(C) (D)

{7)S/17/2022/A 12

91. First classification system, where the first

division is by discipline, is known :

(A) Broad system of ordering

(B) Expansive classification

(C) Colon classification

(D) Dewey Decimal Classification

92. Anglo-American code was issued in the

year :

(A) 1841 (B) 1921

(C) 1908 (D) 1876

93. FRBR model is based on :

(A) Entity-Relationship model

(B) Work-Expression model

(C) Work-Manifestation model

(D) Entity-Expression model

94. How many elements are there in Simple
Dublin Core ?

(A) 16

(C) 15

(B) 17

(D) 14

95. Who developed NEsted PHrase Indexing

System (NEPHIS) ?

(A) Sharp (B) Craven

(C) Lynch (D) Metcalfe



96. "CR wiW ̂  ̂

^ 1^ ̂  -q^ 3FRTT^ ^:-

"aif^ 3PWft t I

(A) ̂  ̂ "nt

'  (B) W

(C) ̂ SIWT

(D)

97. rnnfelRsid ■^* ^ ^-cHlcMch
TO ^ MRtTR f ? .

(i) TO fqqq-TO^ ffro TOCdT ^ TTSTT
fqqq-TO^ ^ ̂  TOl^n^
TOH ^ t"

(ii) TO WT^' ^ "^IT yi^ilRlcb
■^jfN fro TO^W "t

(iii) TO TOi ^ "jrin
^ t

(iv) TO sftr TO^#* ^
"R#m TOm t ^

•RfTRfW TOdT t

(A) (i) A (ii)

(B) (ii) (iii)

(C) (ii) 3^ (iv)

(D) (i) 3fk (iv)

(7)S/17/2022/A 13

96 is the world's first online

information retrieval system to be used

globally.

(A) Duck Duck Go

(B) Google

(C) DIALOG

(D) EBSCO

97. Which of the following are the

characteristics of informative abstract ?

(i) It indicates the contents and does

not provide specific information

about the contents

(ii) It is most useful for document

reporting or experimental

investigation

(iii) It is oriented to serve a special

group

(iv) It abridges principal ideas and

facets and contains actual data

Codes :

(A) (i) and (ii)

(B) (ii) and (iii)

(C) (ii) and (iv)

(D) (i) and (iv)

P.T.O.



98. cij[Ich<u| ^ ^

■^* ^ f ?

(i) : "^T^l^snr ^ %5RT, aTfff^

11

(ii) : 'm^mi ^

te^Rff i{ i- \

(A) ^«PT (i) aqk (ii) ^ f
(B) (i) 3lk (ii) f
(C) (i) i 5^ (ii) tt^

t

(D) ^sth: (ii) t srk (i)
t

99. rnHrclRsId '^' wt" "^^rf ^ WT

(a) Worldcat: oqiH=t)

(b) RLIN :
^ ̂ [fWT

(c) BIBFRAME : TRTIcq^ ^
■^RT ^T-sqi

(d) INDCAT : 3Tff.3TTf.^, ^ ̂  fef
"TTT ■#?? TK^ff ^

(A) (a) sfk (b)
(B) =tiq(n (a) sfk (c)
(C) (c) 3ik (d)
(D) (b) 3fk (d)

98. Which of the following is true of canons
of classification ?

Statement (i) : Canon of Hierarchy is
one of the canons of

Idea Plane.

Statement (ii) : Canon of relativity and
uniformity is one of the
canons of Notational

Plane.

(A) Both Statements (i) and (ii) are
correct

(B) Both Statements (i) and (ii) are
wrong

(C) Statement (i) is correct and
Statement (ii) is wrong

(D) Statement (ii) is correct and State
ment (i) is wrong

99. Choose the correct pairs among the
following :

(a) Worldcat : Largest comprehensive
bibliographic database

(b) RLIN : Union catalogue of
scientific serials in Australia

(c) BIBFRAME : Data model for
bibliographic description

(d) INDCAT : Bibliographic database
of theses submitted to IIT's

Codes :

(A) (a) and (b) only

(B) (a) and (c) only

(C) (c) and (d) only

(D) (b) and (d) only

(7)S/17/2022/A 14



100. rHHftrlRsld ^

(i) ilT^-2I

(ii) ("Q^T)

(iii)

(iv) (j"^)

W •

(A) (i), (iii), (ii), (iv)

(B) (ii), (iii), (i), (iv)

(C) (ii), (iv), (iii), (i)

(D) (iii), (i), (iv), (ii)

101. HcbKidich

WRi?W ^ wftffT

'^* ^TRT "^jncTT "I" ?

(A) "ScqR 3^1

(B) ymqj "^wr

(C) t^wT

(D) t^WT'

102. (SWOT) ^

t:

(A) arrW^rfw m

(B) m

(C) 41^4) m

(D) 3H^ck1

(7)S/17/2022/A

100. Sequence the follovying in the order of

their inception :

(i) MARC-21

(ii) ISBD (M)

(iii) CCF

(iv) ISBD (G)

Codes ;

(A) (i), (iii), (ii), (iv)

(B) (ii), (iii), (i), (iv)

(C) (ii), (iv), (iii), (i)

(D) (iii), (i), (iv), (ii)

, 101. Strategy to transform negative attitudes

into positive attitudes about library

services, is known as :

(A) Product Promotion

(B) Customer Care
f

(C) Indirect Marketing

(D) Direct Marketing

102. SWOT analysis can be conducted in :

(A) Informal Session

(B) Participation Session

(C) Brainstorming Session

(D) All of the above

15 P.T.O.



103. ""3?^ ^ ̂  HlcJcti
."f 1%^ ̂iFT ^ ?

(A) 1^.3TR.

(B)

(C)

(D)

104. MPWcfH 3R?iFf ^ t :

(A) .wM (B) wm

(C) wiW^ (D) ̂

105. "RT^# (Maslow) ̂  fe[RT 37T«?Tfel
t :

(A)

(B) sTTqr^q^sff ̂  -rWh

(C) Irw

(D)

106. 3Tk WTif^ fWcTT ̂

^  fq "nrr

^TTcTT t I

(A) 3W=iiH^

(B) ̂  3WchM'4

(C) "RT^^STfe 3W4)ld^ WT

(D) ̂ 8#!^ WT

107. ^ "^Tf^ t ̂  1^
^  ̂ "^f
"RFk#T 3Tk t 1" ̂  'm

"nRT "t :

(A) ^

(B) ̂ .3TR.

(C) "^. fqfVl^H ^(^31

(D) ^ ̂

(7)S/17/2022/A 16

103. "Three factors for book selection are :

Books, Readers and Resources" given
by:

(A) S.R. Ranganathan

(B) F.K.W. Drury

(C) Melvil Dewey

(D) All of the above

104. Accelerators of change management are :

(A) Technology (B) Society

(C) User (D) All of these

. 105. Maslow's theory of motivation is based

on:

(A) ExpectancyA^alence

(B) Hierarchy of needs

(C) Frustration

(D) Target oriented

106. A library building taking into account the

environmental, economic and social

sustainability is called :

(A) Independent library building

(B) Green library building

(C) Public library building •

(D) Academic library building

107. "'Management' is tlie force, which leads,

guides and directs an organisation in the

accomplishment of predetermined

object" is given by :

(A) F.W. Taylor

(B) S.R. Ranganathan

(C) J. William Schulze

(D) None of the above



108. ^ igRT

wnf^ w ? ■

(A) M^-1957

(B) 3TT^-1949

(C) ̂ fertt 3TT^-1964

(D), ̂ l<jiwn 1t^-l949,

109. - ^ ^

311?^ t sfiT ^

' ^ f" I

(A)

(B) 31^

~  (C) ̂  37T?^TfeT

(D)

110. fen "3?^ 3?k ̂  3m ^

"3^ ̂  ̂ 31^^ ^

-t I

(i) ^#T

(ii) m

(iii) (4il4yuiieil)

(iv) mI^^i . -

^ •

(A) (i)"^' (ii)^

■(B) (ii)-^ (iii)^
(C) (i)"^* {niymt
(D) (i), (ii) (iii) . ■

(7)S/17/2022/A

108. Programme Budgeting is" originally
propounded by. in the year.

(A) UGC Committee Report—1957

(B) Hoover Commission-1949

(C) Kothari Commission-] 964

(D) Radhakrishnan Commission
Report-] 949

109 budget is "based on

expenditures on the performance of
activities and emphasizes on efiQciency of
operations".

(A) RP.B.S.

(B) Performance Budgeting

(C) Zero based budget

(D) Formula budget

110. Six Sigma is a to achieve high
levels of performance for both product
and service offerings.

(i) Philosophy

(ii) Measure

(iii) Methodology

(iv) Process ^

Codes :

(A) (i) and (ii) are correct

(B) (ii) and (iii) are correct

(C) (i) and (iii) are correct

(D) (i), (ii) and (iii) are correct

17 P.T.O.



111. fwif ̂  ^

"^h^dl "t", t^rH ilH

^3THT "mi t ?

(A) Mldld^ld (B)

(C) "HfiH (D)

112. ■^* =+?1h^I Hh-wh t ?

(A) (B)

(C) (D)

113. ■^' ^ ̂  ̂

^ t ?

(A)

(B)

(C) ^

(D) yi^^Rwi ci^Fft^

114. vftjllfHM *TT^ ^ t ?

(A) .(B)

(C) (D) 3n^

115. ^

t ?

(A) sWrr (B)

(C) (D) ^ ̂

(7)S/17/2022/A

111. What is called the set of rules that

co-ordinates the exchange of

information ?•

(A) Protocol (B) Software

(C) Modem (D) URL

112. Which one of the following is not a
switching system ?

(A) Packet (B) Circuit
(C) Router (D) Message

113. Which of the following is not the

component of a search engine ?

(A) Spider

(B) Index

(C) Search of retrieval mechanism

(D) Natural Language Technique

114. Which of the following is not a
programming language ?

(A) FORTRAN (B) COBOL

(C) C++ (D) ASCU

115. Which operating system is developed by

google for mobile phone ?

(A) Opera (B) Apple

(C) Android (D) Google phone

18



116. [HHRrlfkd

^ t ?

(A) KB (^) (B) GB (^)

(C) TB (^) (D) Bits (^)

117. ^ ̂ ̂ ™

t ?

(A)

(C)

(B) 41<41y.^H

(D) ̂ Nha^

118. ?

(A) i 'IK4>V-d (B)

(C) (D) TR

119. ^ IRlW "fer

(A)

(B) INSDOC

(C) (c+,dd)dl) ■

(D) HKdl^ ■Rffe^T^fhr

120. ^ i ?

(A) 1^

(B) U.'+Rl^i

(C) .

(D)

(7)S/17/2022/A

116. Which among the following is the

highest unit of information ?

(A) KB (B) GB

(C) TB (D) Bits

117. What is the unit of the rate of

communication data on the channel ?

(A) Pbs (B) Bbs

(C) Bsp (D) Bps

118. Who evolved the term 'Hypertext' ?

(A) E. Garfield (B) Bill Gates

(C) Ted Nelson (D) Raj Reddy

119. Which organisation used Computer first

in India ?

(A) DRTC

(B) INSDOC

(C) National Library (Calcutta)

(D) Indian Statistical Institute (Calcutta)

120. Which of the following is a Search

Engine ?

(A) Alta Vista

(B) Excite

(C) Lycos

(D) All of the above

19 P.T.O.



121. ■qTT.STTf.TTq.i 3TN ^ t' ?

(A)

(B)

(C)

(D) T^t^TW '^'

122. rHHrdPsid ^ ^
Wte ^ 3Tffi^8#TcT

^ ̂ idHI 3Tf^7^,
f^r^id "J^cT^n^BT STT^HT?, ^T^l'lfl

^ iiW^hld-M "HIIF sSk
^  3ffT ^ "^'
t ?

(A) (B)

(C) (D) 3q\^

123. T3^.^3iK.'?it. ^ ^ t :
(A) tHiei

(B) ft^qNT ^
(C) IwfNr ^
(D) ^ ^

124. m141m1 1]^ t :
(A) M 115 1IT?M
(B) IF vVl4)Td
(C) M fe -ai^M
(D) IF

(7)S/17/2022/A

121. What do you mean by MIME ?

(A) Multipurpose Internet Mail
Extension

(B) Mail Internet Mobile Extension

(C) Mouse Input Motherboard
Extension

(D) Mobile Input Mail Extension

122. Wliich of the following enable users to
search and browse through all the
resources of library by replacing the
traditional OPAC to include : Catalog

Records, Digital library items,
Institutional repository, other library
collections "and resources ?

(A) Invenio (B) Koha

(C) VuFind (D) Omeka

123. SQRC stands for :

■  (A) Small Quick Response Code

(B) Single Quick Response Code

(C) Secure Quick Response Code

(D) None of the above

124. PGP stands for :

(A) Pretty Good Privacy

(B) Post Good Protocol

(C) Pretty Grand Privacy

(D) Pre Good Protocol

20



125. t I

(A) ̂

(B)

(C)

(D) aM^nr

126. rdHPeiRsid ■^' 1^

(A)

(B)

(C) ""Mit

(D)

127. •■^*
i\^ t 1

(A) (dl^<)
(B) ^
(C) trfM^ (<^Ry.«<d
(D) a#T^ M?PT (1t^

128. 5ffoEtdNt ^ RnfdRsid ^RHPdd ^

f :

(A) ^Old, Pl^Rl^tll; -Slil sftl

(B) IP, 37k ^

(C) IP, sfk ^

(D) 37k fepT

125. Omnipage is a

(A) Image Software

(B) Remote Login Software

(C) DBMS Software

(D) OCR Software

126. 'Communities' is a component of which
of the following Digital Library
softwares ?

(A) GSDL

(B) DSpace

(C) Fedora

(D) I-Core

127. The complete bibliographic details in
MARC are available in :

(A) Leader

(B) Conftol Fields

(C) Variable Fields

(D) Record Directing

128. Ontologies consist of the following
components :

(A) Label, Directory, Data and
Separator

(B) Substance, Attributes, Relations and
Functions

(C) Entities, Attributes, Relations and
Functions

(D) Concepts, Instances, Relations and
Axioms

{7)S/17/2022/A 21 P.T.O.



129. ̂  ̂ ^ ̂  ̂
■^IT ^ ̂  ̂  3PTRT ^r(^ t eft "3^
^ "sneTT t :
(A) aifer^ (B)
(C) 31^ (D)

130. i<ft<i4)|MT, "3wM* 3k "rftfe^ ^
■<1^, sk oild^ld ^Hdi

*<t)6( "^idi ^ I

(A) -fefer
(B) ^TOT

(C) ^ -^TT^
(D)

131. '^-7ft?T ^ ^
13TT ?

(a)

(b) ^^^rftfte
(c)

(d)

'  •

(A) (a), (c), (d) ^ f
(B) (a),.(b), (c) f
(C) (b), (c), (d) ^ f
(D) (a), (b), (d) ^ f

132. INFROSS d<;i^<u| t ?
(A) 31KFR

(B) 1^5i"lle"Hct) 31%^^'!
(C) '^m
(D) wftto

(7)S/17/2022/A 22

129. When a Cracker attempts to misuse or
steal data from system it is called :

(A) Intrusion (B) Instruction

(C) Interpolation (D) Inspection

130. Ability to read, write and interact across
a range of platforms, tools and media is
called

(A) Digital Literacy

(B) Information Literacy

(C) Trans Literacy

(b) Micro Literacy

131. 'E-Shodh Sindliu' emerged by the merger
of:

(a) INDEST

(b) INFONET

(c) NICNET

(d) N-LIST

Codes :

■(A)" (a), (c), (d) are correct

(B) (a), (b), (c) are correct

(C) (b), (c), (d) are correct

(D) (a), (b), (d) are correct

132. INFROSS is an example of :

(A) Case study

(B) Observation

(C) Survey

(D) Experimentation



133. ^

■HTHqpT* "^' "^THT "^ITcIT "I I

(A) ^ (B)

(C) mRuHH (D) MR^trMHI

134. eter ^ ^^rrniR^ t :
(A) ^ ^
(B) "^T^' ^
(C) WIT 3Tk 3T^ "gRT MBlcbia^* ^

"3^ ^

(D) -iH^cKl '^* '=til^

135. '^* ^ *
"^Trfn "t ?

(A) ' "^^* ^ ^ mR+^tmhi
(B) i^T

(C)

(D) ^ "Rtolto

136. "q;^ ar^^pH 3#7^i^ ■^* ^
^fitlncn ?

(A) mR^IIH (B) hRchq^ii
(C) ^-y"lldl (D) ^

137. d4)Hl<=h W t ?
(A) ^ T3^ MlyifM^I ^ t
(B) ^ 133? "ahirfT t
(C) "^3;^ ^ i
(D) ^ %tT 133^ t

J

(7)S/17/2022/A

133. A tentative solution of a problem by a
researcher is known as :

(A) Variable

(C) Result

(B) Principle

(D) Hypothesis

134.

135.

136.

137.

23

Lotka's Law is based on :

(A) Frequency of publication of authors

(B) Frequency of words

(C) Counting and cited journals by
other

(D) None of the above

In Research Methodology, schedules are
used for :

(A) Presenting hypothesis frequency of
Publication of Authors

(B) Data Collection

(C) Research Design

(D) Define the problem

What should not be included in a
research design of a study ?

(A) Findings (B) Hypothesis

(C) Methodology (D) Scope

What is Delphi Technique ?

(A) It is a programming language

(B) It is a. computer programme

(C) It is a method of research

(D) It is a tool for research
P.T.O.



138. T^[Wi4)Ard^' ^ ̂
"W «TT ?

(A) "q;^

(B) T3:H.3TR

(C) Tt^T."#. #5^

(D) W

139. ^ ^
t :

(A) TTR. (B) iTTq. fqjf^

(C) mM. i (D)

140. ^ 3rfeT 1^ ■^*
^ W "5RPT t ?

■  (A) ^ WT

(B) HR=h(rMHI ^
(C) 1^' ̂  ̂ ^trW
(D) ^ ̂  f^TRh

141. <i44\M=t)dl3Tf ^'=iiy,
^ ̂  iiW4iH4 OT WIRT

1^ ^ WTHT WT ^
f ?

(i) ^siTO

(ii) ^1Rtid
(iii)

(iv)

rdMRdRdd ^ iRttt :
(A) (i)jisn (ii)^ f
(B) (iii) ^811 (iv)^ f
(C) (i) '?i^ t
(D) (iv)^ t

(7)S/17/2022/A 24

138. The term 'Bibliometrics' was first used

by ;

(A) , Allen Kent

(B) S.R. Ranganathan

(C) S.C. Bradford

(D) Allen Pritchard

139. The author of the book "How to Get a

Ph.D." is :

(A) M. Meyer (B) E.M. Philips
(C) R.A. Day (D) G Watson

140. The spiral process of the scientific
method provides which of the
following ?

(A) Steps and phases in scientific
method

(B) Formulation of hypothesis
(C) Formulation of subjects
(D) Formulation of knowledge

141. Which is the most common type of
Software used by libraries to provide the
services to access for Vision impaired
users ?

(i) JAWS

(ii) Dragon Naturally speaking
(iii) SOUL
(iv) KOHA
Choose the correct option from the
following :

(A) (i) and (ii) are correct
(B) (iii) and (iv) are correct
.(€) Only (i) is correct
(D) Only (iv) is co|Tect



^ %

142. (U.G.C.)OT 1957 T^^T.

m. tn^sH ̂  37ki8j^ ^?s#m -^tMt

3i^-yK 4iTcrl^ sik Piifqlqsjiei'H ^
iiWcbld^T ̂  fqqim ^ qai^

^T4i' 4iT*|<:rl " y.qi" "k* yeA^i

6000 qlcr^H ^ ®mPki

3iiq^!qqial f^WT '^* "i" ?

(A) mR-H*-M<ui ^w]

(B)

(C)

(D) PiqciqiilViqi

143. IFLA ^ oTT#^

TTHtRTI3;?RT ^

Rbdnl ■^FRFs^ ■^* "13;^

liWdildd #TT -qiRM, ?

(A) 5000 (B) 4000

(C)' 3000 (D) 6000

144. "U*^ : {fedH "51% 3lf^

.  Rh^Hdil ydiliilH t ?

(A) nlWiqi Qii^^O (DPL)

(B) TRT wfrFT ^ ell^^d wi^

(C) AiiHd crii^^d

(D) yel^dd 31^*iTPT sfk "Rf^OT ^

(7)S/17/2022/A

142. According to the staff formula of UGC

Library Committee under the

Chairmanship of Dr. S.R. Ranganathan

1957, which section needs to have "one

person for every 6000 volumes added in

a year" in library ?

(A) Circulation section

(B) Reference section

(C) Book section

(D) Periodical section

143. According to IFLA (International
Federation of Library Associations and
Institutions) standard, there should be
one Public Library out of how much
population ?

(A) 5000 (B) 4000

(C) 3000 (D) 6000

144. "Granthana : Indian Joumal of Library

Studies" is a Publication of

(A) Delhi Public Library (DPL)

(B) Raja Ram Mohan Roy Library
Foundation

(C) National Library of India

(D) Documentation Research and
Training Centre
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145. ^ "t* :

0) : AGRIS
^  "SRT H't^cl ̂  4^
^ "RF^T M.ct)1<5)a "wrf^

t  I

(ii) : 1980 AGRIS 1=^

^ ̂ ̂Nil^d ^37T I

PdHRrlRsld i{ ^

=hlPil4. :

(A) (i) (ii) f

(B) ^T8FT (i) (ii) t

(C) ̂ 2FT (i) ̂  t (ii) "FelH t "

(D) (i) t "q^ (ii) t

146. "qt^ P\U. :

(i) : srfq^WTR ^
^5^^, ̂ *<=beH ^ 1^-"^,

3;TR ^Ihi ^ 3T^HK

c|'lf<J)d f^^l 'I'M! "i" I

gj8FT (ii) : ̂  C^) 3#T^WTR ̂
■q;^ Mm ^ "sfer t i
SrfYT^WTR ^ ^ if^T^

-mm ^TTcTT t I

PdMRrlRdd ^

:

(A) (i) CI87T (ii) t
(B) #ff ^78:^ (i) cT«T[ (ii) t
(C) (i) t "q^ (ii) t
(D) (i) t "q^ (ii) t

145. There are two Statements :

Statement (i) ; AGRIS is a computer-
based decentralized system for receiving,
integrating and processing bibliographic
data submitted by National and Regional
centres all over the world.

Statement (ii) : AGRIS became
operational in January, 1980.
Choose the con'ect option from the
following :
(A) Both the Statements (i) and (ii) are

correct

(B) Both the Statements (i) and (ii) are
false

(C) Statement (i) is correct but
Statement (ii) is false

(D) Statement (i) is false but Statement
(ii) is correct

146. There are two Statements :

Statement (i) : Archives are classified
according to the creator, form, legitimate
use, state of compilation, subject-matter,
importance and chronological limit.
Statement (ii) ; An inventory is a written
or printed description of archives. It is an
aid to find information or stock register
of archives.

Choose the correct option from the
following :
(A) Both the Statements (i) and (ii) are

correct

(B). Both the Statements (i) and (ii) are
false

(C) Statement (i) is correct but
Statement (ii) is false

(D) Statement (i) is false but Statement
(ii) is correct

(7)S/17/2022/A 26



w-r"

147. ^ t :

(i) : ATIRA ^fk
wfTW^3if ̂  KFT

^ ̂ t I

(ii) : ATIRA !iW=hl<H^ sfk
'^* "51^^ "^afi

^ "^1?^ "^MT H5Cli "t 1

iHMRriRslcl "4' "^PTT

:

(A) ^21^ (i) (ii) t
(B) ipS (i) ̂STT (ii) f
(C) ̂ »TT (i) t "TC3 (ii) t
(D) (i) tt^ t -qr^ (ii) ̂  t

148. cT^vfNfl ^^IPi-hR'I
"k* h[^4i!^' ̂
^  oqiM=ti ^^RTT
t ?

(i) GEOBASE

■ (ii) Compendex

(iii) Encompass

(iv) Eipatents

rHHPdRsId '^* "E^t Pq^htrH :

(A) (i) ̂  t (ii) (iii) ̂
f

■  (B) (i) (ii) t (iii) (iv)
"ndd f*

(C) (ii) ̂  t (i), (iii) (iv)
'RRT f*

(D) (i), (iii) (iv) ̂  t ̂  (ii)
■qdd f

(7)S/17/2022/A

147. There are two Statements :

Statement (i) : ATIRA Libraiy is related
with providing service to textile and
allied industries users.

Statement (ii) : ATIRA Library and
Information Centre is the first to start the
industry-oriented documentation services
in India.

Choose the correct option from the
following :
(A) Both Statements (i) and (ii) are

correct

(B) Both Statements (i) and (ii) are false
(C) Statement (i) is correct but

.  Statement (ii) is false
(D) Statement (i) is false but Statement

(ii) is correct

148. Which of the following is/are the most
comprehensive bibliographic database for
scientific and technical engineering
research for searching articles of
engineering, journals and conference
proceedings ?
(i) GEOBASE
(ii) Compendex
(iii) Encompass
(iv) Eipatents
Choose the correct option from the
following :

(A) (i) is correct but (ii) and (iii) are
false

(B) (i), (ii) are correct but (iii) and (iv)
are false

(C) (ii) is correct but (i), (iii) and (iv)
are false

(D) (i), (iii) and (iv) are correct but (ii)
is false
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149. fesq (INIS)

^ f¥fr5Fi afk ?nr

■^TTflT t" ?

(A) "QTT^ 13:^ ■
(B) v^ -q^
(C) "q;^
(D) wf 1T^

150. 3Tfy 31^ Af
1^- *TR^ ^Hl4^Pl=h iiW+ld^T Af

IM t, PinrdRsId 4ilfA4i
■^ftfrT^" ^ "qr^ ^ t :

(i) 3if§i 3r^ iiw^iidq
Tiqe, I960

(ii) srm 31^ ^W4ildq
1961

(iii) 3n^ 31^ H'STIOT

(iv) 3Tfy ^ STMfe
■sSk 371^

(v) TRT Af srfv 37^ TfariOT "qfw STR
1^ Ti«n^ ^ HlPdJId Wt

rdMPdn^d "qqW Af ^ "q^ "ifqq;:

(A) (i), (ii), (iii) ̂  t, (iv)
(v) f

(B) (ii), (iii), (iv) ̂  t
(C) (iii), (iv), (v) ̂  f
(D) (i), (ii), (iii) ̂  t 3^ (iv) (v)

#■^5)1

149. International Nuclear Information System
(INIS) is planned and operated by :
(A) International Automatic Energy

Agency

(B) International Atomic Energy Agency
(C) Information Atomic Energy Agency

(D) Information. Automatic Energy
Agency

150. The Public Library System in Andhra
Pradesh is acclaimed to be the oldest
among the Public libraries in India has
the personnel policies as follows :
(i) The Andhra Pradesh Public

Libraries Act, 1960

(ii) The Andhra Pradesh Public
Libraries Rules, 1961

(iii) The Andhra Pradesh Zilla-
Granthalay Samstha Staff Manual

(iv) The periodical directives and orders
of the Government of Andhra
Pradesh

(v) The Policy decisions of the Andhra
Pradesh Granthalay Parishad and
Zilla Granthalay Samsthas in the
State

Choose the correct option from the
following :

•  (A) (i), (ii) and (iii) are correct but (iv)
and (v) are false

(B) (ii), (iii) and (iv) are correct
(C). (iii), (iv) and (v) are correct-
(D) (i), (ii) and (iii) are correct and (iv)

and (v) are also correct

i.'
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